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AQA AS Chemistry exam practice answers 

13 Alkenes

1
(a)
(i) 
Bromine water turns from orange to colourless [1]


(ii)
No reaction, bromine water stays orange [1] 


(b)
Electrophilic addition [1]

(c)
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2
(a)
2-methylpropene [1]; but-1-ene [1]; E-but-2-ene [1] respectively


(b)
C4H8 [1]

(c)
Structural isomers [1]

(d)
But-2-ene [1]; two different groups on different carbon atoms of the double bond/no free rotation allowed around the carbon double bond and so two different molecules exist [1]

(e)
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[1]


There are two possible carbocations: 
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The secondary carbocation (the left-hand structure) is more stable than the primary one [1]

(f)
(i)
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(ii)
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